Factoring exercises (ver.241108)

Ex.) Factor x? — 10x — 24

x* —10x — 24
* @

Step 1: Find the factors (the humbers you can divide by) of ¢
Q@ osrEEEY

24:1 2 3 4 6.. Notice that halfway point is between

4 and 6 because 4x6=24
4 L 6 ORI, 4x6=24 7205

241 2 3 4 6 8 12 24 The two numbers connected with a
\ \ | L , J } line are pairs

WIS T ODEENRT T

Step 2: Find the pair of numbers that become * when added
You can assign + or - symbol to the numbers

BT WICAB<TEROT 5, +2- 0B X HHICHITCTHRS

44+6=10 Nope

4+ (—6)=-2 Nope

(-4)+ (-6) = —-10 Good try! It doesn't become ’ when -4 and -6
are multiplied
BLWI-4L-6%PFHELTS Qiih i

(-3)+ (-8 =-11 Nope

(=2) +(—12) = -14 Nope

2+(-12) =-10 Yes!... It becomes € when 2 and -12 are multiplied!
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Factoring exercises (ver.241108)
Step 3: Fill in the pair of numbers you found in Step2 to (x )(x ) form
Step2 TROI7ZBFOXT%(x Hx )D74+—~<v FIZANLS

(x + 2)(x — 12)

Answer (x +2)(x —12)

[Practice]

Ex.) Factor x2 + 8x — 20

x%+8x —20
* @

Step 1: Find the factors (the numbers you can divide by) of €

20:

Step 2: Find the pair of numbers that become * when added
You can assign + or - symbol to the numbers

Step 3: Fill in the pair of numbers you found in Step 2 o (x )(x ) form

x D )

Answer



Factoring exercises (ver.241108)
[Level 1]

1) x2+3x+2=

2) x?+5x+6=

3) x2+7x+12 =

[Level 2]
4) x?+10x + 25 =
5) x?+ 14x + 49 =

6) x?+ 20x + 100 =

[Level 3]
7) x2—3x+2=
8) x2—7x+12 =

9) x2—10x + 24 =

[Level 4]
10) x*+x—-2=
11) x*+2x—-8=

12) x*+5x—24=



Factoring exercises (ver.241108)
[Level 5]

13) x?—x-2=

14) x?-3x-18=

15) x?—-15x—54 =

[Level 6]
16) x2+17-60=
17) x?—-22x—-72=

18) x?—15x—126 =



Factoring exercises (ver.241108)

Ex.) Factor x? —16

Consider this as x? + 0x — 16

x*+0x —16
* @

Step 1: Find the number that becomes € when squared
“ELEMCQ LA b0EROTS

42 =16 This means that the pair is 4 and 4

Step 2: Fill in the pair of numbers you found in Step1to (x + )(x— ) form

Stepl THOFHFORTZ(x+ )x— )D7+—~vv MICTAND

(x+4)(x—4)

Answer (x +4)(x —4)

*Note that 4 + (—4) = 0 and matches with %

4+ () =027%b. WLRILICKS



Factoring exercises (ver.241108)

[Level 1]

1) x?2—-4=
2) x*-36=
3) x2-100=
[Level 2]

4) x2-121=
5) x2—169 =

6) x2—289 =



